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dbiEE 68 19 19 30 0
L 27 3 20 4 0
=2F8] 55 9 35 11 0
=R 36 5 20 11 0
MHEE 36 0 26 10 0
1A 25 4 13 8 0
BESR 39 1 33 5 0
TR 34 0 28 6 0
AR 35 3 29 3 0
HER 27 1 16 10 0
BER 37 11 19 7 0
FEE 101 21 59 21 0
RIRED 39 2 30 7 0
HE IR 82 9 50 23 0
HRE 55 5 24 26 0
=S 14 3 5 0
BIINE 12 0 9 0
fBHE 17 5 11 0
[T 30 7 20 3 0
EEFE 61 2 35 24 0
=N 23 2 17 4 0
FhiE R 52 8 37 7 0
BHE 64 17 28 19 0
=EE 37 4 28 5 0
HEE 17 3 10 4 0
REBAT 28 0 20 8 0
KB AT 58 31 24 3 0
EER 37 5 30 2 0
ZRER 19 4 12 3 0
kLS 26 8 14 4 0
BHE 17 1 10 6 0
ERE 27 17 8 2 0
fif] L2 27 9 16 2 0
LER 46 12 19 15 0
wog 36 7 25 4 0
ESR 7 0 6 1 0
FIIE 15 0 10 5 0
FiER 31 0 25 6 0
= 18R 14 1 13 0 0
a2 80 32 30 18 0
HEEER 24 2 20 2 0
RIGE 9 1 7 1 0
REARE 6 3 2 1 0
KR 18 5 8 5 0
=GR 14 8 5 1 0
ERBE 11 4 6 1 0
B 0 0 0 0 0
=1 1,573 294 931 348 0




